A2 Maths with Mechanics Test  (pi) Version O

1) Evaluate , giving an exact answer. 


2) Solve the equation                      ()

3) Sketch  Show clearly any asymptotes, vertical and horizontal, and any crossings with the coordinate axes.

4) Eliminate t from this pair of equations: 

	5) A particle P of mass 0.5 kg is moving under the action of a single force F Newtons. At time t seconds, F = (1.5t 2 – 3)i + 2tj. 

	When t = 2, the velocity of P is 
	(a)	Find the acceleration of P at time t seconds.
	(b)	Find the velocity of P when t = 3

	6) U
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1) Evaluate , giving an exact answer. 


2) Solve the equation                      ()

3) Sketch  Show clearly any asymptotes, vertical and horizontal, and any crossings with the coordinate axes.

4) Eliminate t from this pair of equations: 

	5) A particle P of mass 2 kg is moving under the action of a single force F Newtons. At time t seconds, F = (1.5t 2 – 3)i + 2tj. 

	When t = 2, the velocity of P is 
	(a)	Find the acceleration of P at time t seconds.
	(b)	Find the velocity of P when t = 3

	6) U
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1) Evaluate , giving an exact answer. 


2) Solve the equation                      ()

3) Sketch  Show clearly any asymptotes, vertical and horizontal, and any crossings with the coordinate axes.

4) Eliminate t from this pair of equations: 


	5) A particle P of mass 0.25 kg is moving under the action of a single force F Newtons. At time t seconds, F = (1.5t 2 – 3)i + 2tj. When t = 2, the velocity of P is 
	(a)	Find the acceleration of P at time t seconds.
	(b)	Find the velocity of P when t = 3

	6) U
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1) Evaluate , giving an exact answer. 


2) Solve the equation                      ()

3) Sketch  Show clearly any asymptotes, vertical and horizontal, and any crossings with the coordinate axes.

4) Eliminate t from this pair of equations: 

	5) A particle P of mass 0.1 kg is moving under the action of a single force F Newtons. At time t seconds, F = (1.5t 2 – 3)i + 2tj. 

	When t = 2, the velocity of P is 
	(a)	Find the acceleration of P at time t seconds.
	(b)	Find the velocity of P when t = 3

	6) U




Answers Version O

1)  

2) 210, 270, 330
[image: C:\Users\m.macve.BHA.000\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\VPOANJPP\graph_20170111_103041.png]
3) 



 4) 

5) a)  + 4tj

b) 

6) 
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2) 210, 270, 330
[image: C:\Users\m.macve.BHA.000\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\QW1JM7KM\graph_20170111_104411.png]
3) 



 4) 

5) a) + tj
b) v =

6) 
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2) 210, 270, 330
[image: C:\Users\m.macve.BHA.000\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\VPOANJPP\graph_20170111_104455.png]
3) 



 4) 

5a)  + 8tj
b) 22i + 25j

6) 
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2) 210, 270, 330
[image: C:\Users\m.macve.BHA.000\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.IE5\IFW1DRDE\graph_20170111_104552.png]
3) 



 4) 

5) a)  + 20tj
b) v = i + 55 j

6) 
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